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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

FTHIFT fAder
(i) T3 g7 3rfAarf &1

(ii) 3 Fo7 97 H o719 67 8, 15100 T &1 &; & T 3R & H AT 1331 131
&

(i) &S - & 3 FoT H&IT 1 #H FWTE (xvi) FEGIAS Fo7 &1 79 (i) & (viii) TP
FglAHT To 81 92 59 # IR fadwey 180 & fora & ael fadeq &7 geird
FITT| 597 (ix) & (xvi) TP Je2F HT 3cc] U IT &1 Usq] I1 il # v Jede
9T 1 I FTE]

(iv) &S - & H Fo7 GEIT2 H8TH 1T TGeRICHD Jo &1 JcdF o7 2 3 81
(v) @S- T H o7 GEAT9 H 16 T TGRICHS G0 8| G T07 &4 3 &

(vi) @S- T H FoTHEIT17 F19 T Ve IcaicHS Jo7 81 §cde Jo7 36 JH &/

(vii) & — T (3 IcaRicHS §97) & &t 9971 H IaR% fdeq 3qerser &1 07 g9
H & a3t I H & 319 Faer O F97 AT &

General Instructions:
(i) All questions are compulsory.

(ii) This question paper contains 19 questions, which are divided into four Sections :
A, B, Cand D.

(iii) Section — A contains question number 1 having sixteen (xvi) objective type
questions. Question from (i) to (viii) multiple choice type questions. Each question
carries four options, from which choose the correct option. The answer of each
question from (ix) to (xvi) may be given in one or two words or sentences. Each
question carries 1 mark.

(iv) Section — B contains question numbers 2 to 8 of very short answer type questions
and carry 2 marks each.



Code: B

(v) Section — C contains question numbers 9 to 16 of short answer type questions and
carry 4 marks each.

(vi) Section — D contains question numbers 17 to 19 of long answer type questions
and carry 6 marks each.

(vii) Internal choice is available in two questions of Section-D (Long Answer Type
Questions). You have to attempt only one of the given choice in such questions.

SECTION - A
T s-F
( Objective Type Question Answer)
(TS TR & T2 3cci)

1 (i) Zero Primary Deficit means: 1x16=16

(a) Fiscal Deficit > Interest payments
(b) Fiscal Deficit < Interest payments
(c) Borrowing = Interest payments
(d) NONE of the above

T A TH Erer &7 3 &

() ST ETET > STTST T 3T
(@) TSThINI ETET < SATST T ATl
(1) FUR AT = SATST T $ITAT
(&) 3G & F IS 76T

(i) Which costs can be avoided in short run
(@) TFC
(b) TVC

(c) AFC
(d) BothAand C

eqTafes # foheT SIaTal & o747 ST AehdT o -
(&) For R T
(@) et g AT
@) 3rad R e g
(CIEEIREEAC

(i)  When supply curve is Horizontal straight line, it indicates:
(a) Unitary Elastic Supply
(b) Perfectly Elastic Supply

P.T.O.



Code: B

(c) Perfectly Inelastic Supply
(d) Relatively Elastic Supply

St gfct ask atfaer welt Yar gt a I et & -
() SHTS FATGR 3MYft
(@) T IR et
(%) 0T Fefrerert et
(&) 3TA&TTehd elraer 3mqfet
(iv) What will be the effect on Equilibrium Price if Supply is Decrease without any change
in demand?
(a) No change in Price
(b) Fall in Price

(c) Rise in Price
(d) NONE of these

HIaT 3 IS Teoltd T foralT et ot Bt TR HercTofet hIFCT TR T 37T TSI
(oR) AT H IS Feolrd TgT
(@) FrAd # FRrae
(@) AT A g
(57) 73 & I TGl

(v) The period of time, when supply is fully adjusted to change in demand is called:

(a) Short period

(b) Very short period

(c) Mid period

(d) Long period

fore FHATE® A 3Tqfct qut o & AT 7 IREd & fov TR g el 87

(%) 379 e

(@) 3fa 3767 31afer

(a1 AT g

(e1) EYer 31 atey

(vi) If Demand for a product falls, equilibrium price will:
(a) Fall
(b) Rise
(c) Remains constant
(d) NONE of the above

& Teh 3cTE; T AT ha el &, Tl HcJoloT ShiHd :
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() Tesf

(@) eI

() PR e g
(&) ST | IS oTET

(vii) Depreciation of domestic currency occurs due to:
(a) Increase in the demand of Foreign currency
(b) Decrease in the demand of Foreign currency
(c) Increase in the supply of Foreign currency
(d) Due to the Government Intervention

TR FGT T HEAEH o= & HROT gl &
(&) Pl g T R
(@) R s i ot
(") R g 0 3T A g
() TR o §EALTT & hROT

(viii) Which of the following are Capital Receipts of the government?
(a) Recovery of loans
(b) Borrowings
(c) Disinvestment
(d) All of the above

frraforid 31 & @ieT H TR 1 Iaferd Triee 82

(3P) T T Tl
(@) 3YUR o=l
@31 Afeaer
(5) IRV FHY

State whether true or false:-

TE T I ATV

(ix) MRT indicates the slope of the Indifference curve.

MRT 3T 95 & &ollel ol ST T &

(x) Demand for Veblen goods increase as price decrease

hIA TCe IR TTcTSaT Hareh aE3il T AT 96 S g |

(xi) Monopoly market is having selling costs.

USRI ST & b rera g1 81

(xii) corporate tax is an indirect tax.

P.T.O.
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fIITH Y Teh TTET Hh ¢

Fill in the blanks.

Rera Fumer oX|

(xiii) In accounting sense BOP is always in.............
ITeheT T TS & $ITcTTel Tloled GHAT ... AgTg|

(Xiv) o is considered the father of Economics.

.................. I ITATET T STAeh gl SATdT &

(xv)  The name of a book written by J. M. Keynes is............
oF.TH. e SaRT T qEAh PTAH ...

(xvi)  If MPC is 0.8, the value of Multiplier will be ............
Iie FATT 3TN IGT 0.8 8, T IOTeh HT H{e ... gIam|

SECTION - B
gs-@
VERY SHORT ANSWER TYPE QUESTIONS
A oY SccTcAS Tea

Q2. Give the wealth definition of Economics.

3TNRMTET Y 1T Gy gRamsT SIfST|

Q3. Explain the Central Problem How to Produce.

3cUTET 8 Y, o T HTAT T STEAT F |

Q4. Define the term MRS.
AT FTAEATIST G ohl TRATNT HIfTv|

Q5. What is Price Discrimination

I 9 FaT §?

Q6  What is meant by Circular flow of income.

31T & TP YaTg § a1 AfAUrT § 2

Q7. What is meant by Real GDP.
IrEATden SITSIAY 3T FAT HcTold g2

Q8. What is a Barter System?
& Tafieg gorrel &7 82

)

)

(@)

(@)

(2)

(2)

()



Code: B

SECTION - ¢
s -
SHORT ANSWER TYPE QUESTIONS
oY ScaTcHS FeeT

Q9. Explain the concept of Increasing Returns to the Factor with the help of schedule and
curves. (4)

R oh Sec FicTthel shT 3TAEIRUT T T 3R Fshi i FEIT & HASATST|

Q10. Explain the concept of Control Price and Support Price. (4)
=0T He 3R FHLT Heg Sl HTUROT T AT HIFT|

Q11 Differentiate between Monopoly and Oligopoly. (4)
THITEHRR 3R TSR & 9 R Td18T|

Q12 Explain the terms Normal Residents and Domestic Territory. (4)
AT forard 3T ee] HAT T carear w1
Q13 Differentiate between Final goods and Intermediate goods. (4)

3T et 3R Fegacd aeqgsit # 3w Tuse v

Q14. If the Autonomous Consumption is Rs. 50,MPC is 0.80 and investment (4)
is 100,Calculate AD and Saving at different levels of income.

Level of income | 0 100 200 300

AD Rs.

Saving

e T 3user %, 50 &1, AT 39T ggfar 0.80 am fder €100 g dr faffiest 3ma TR W
AT AT g §Id a1 |

T FTERT, 0 100 200 300

THIT AT .

CEI R

Q15  Explain the structure of BOP. 4)

$1ITCTeT HJ Tl T AITAT I HASTSV|

P.T.O.
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Q16. Explain the features of Monopolistic Competition. 4)

TR Siaaferar s aranit i sarear fifsw|

SECTION - D
@s-q
LONG ANSWER TYPE QUESTIONS
Y IcaTcH® T

Q17.  Explain the concept of law of Demand. Write any two Exceptions of it. (6)

AT & FATeT I ITTUROT T AT HITAT| 58 HIS & 319are, o fa@w]|
OR
HYar
Why does the Demand curve slope downward?

AT a5 91T & STT e g3 =t grer &

Q18 Explain how Money solves the problem of the Barter System ? (6)
HHSATY foh FoT 8 g TaTraa JoTTell T HHEAT T FHTUTH el &2
OR
Yyt
Differentiate between Central Bank and Commercial Bank.

P 1T dop IR arOIfcTs g & & 3R TdBT|

Q19.  Explain why the firms in the Perfect Competition market earn normal profits in the
long run. (6)

Tqse Y foh ot SiaaIfeTar aIoR & &Y @/ # Suladl A o1 41 3foid
LB ?



